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QUESTION )

* A KCLSH ¥
x?+ax+b .

- is [-5, 4], a,b € N, then find the value of
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If the range of the function f(x) =
(a% + b?).
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Complete set of values of ‘a’ such thaty = = (x € R) attain all real values is-
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QUESTION ) N

2 f—
Find the values of 'a’ for which —3 < [(x :ax 2) < 2 is valid for all real x.
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Integral/Rational Roots>
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QUESTION ) A KCLS &

NS

If both the roots of the quadratic equation x* — (2n+ 18)x—n—11=0,n €1, are

rational, then values of n are n; & n,. Which of the following is CORRECT?
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QUESTION )

Find all the values of the parameter 'd’ for which both roots of the equation
x%? — 6dx + (2 — 2d + 9d?) = 0 exceed the number 3.
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QUESTION )

Find the value of k for which one root of the equation of
x? — (k+ 1)x + k% + k— 8 = 0 exceed 2 and other is smaller than 2.
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QUESTION )

If a, B are roots of the quadratic equation x* + 2(k — 3)x + 9 = 0(a # B).
If o, B € (—6, 1), find k.
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QUESTION )

Find all possible value 'a’ for which exactly one root of equation
x? —(a+ 1)x + 2a = 0 lies in (0, 3).

Nows Two possibifrtes avite

£ < 5
(9 -3a-3+2a) 20 <0 Ga=0 &-a=0 .
(G‘Q)O\ <0 R=%=0 ..L.aa
Q(a-6)7?0Q E X:°‘\ AREIRA =0

L"&tom\m’c

e -n,0)u (¢,n) Mooy X‘B'\‘\\
v* Lecond veot

QQ(._.Q 6&\)(% N) \V\\\\‘)Q‘aqm& not Qe




































TAH-1
R By Nikita
e T R A ) From Raj.

y ,_6—)? 6[‘#!_?/&/[0,.9_‘—)}:_[C‘,J&)}
| £ 1 9 \
4 3 & [-13 V2
\rx '?_) t: Zv(} Y 5]

‘}6 *Erg o e
’ 1 PR










TAH-2

By Nikita
From Raj.













"\ “\
YYQx .
| -t
/] R
f 4 '

valut v gt = 2
il 3 Sl % TR
TAH-3
Bv Nikita
From Raj.

-+ ':";fc‘f\(‘})"f'

3
4{6) = f’z/ SN G +4 23O+ 9
) (‘{ '-q

.)+‘3










.>I
R

A e










TAH-5S
Bvyv Nikita
From Raj.










TAH-6
By Nikita
From Raj.










TAH-7
By Nikita
-2 From Raj.













TAH-8
By Nikita
From Raj.

-%N=0
X =0










- TAH-9
21" By Nikita
From Raj.













RiIK (e 503

e ——
@ ol tax+8 =0 7 o clransw
,)(K__r qu - A S s \ 'Ehﬁ'{r
4
fl-*g’-f— af— 9+ 3 7% =0 t + aA%xL4+3 =D

TR ot AT LR
— (A qa®> +8 =0 {ﬂ.t~'4)

S™n-3 =0 OLAA

-—



















KTK-3
By Nikita

From Raj.

Bri =x y 8
3=
: exut







QUESTION ) (KTK 04)

In a triangle PQR, 4R = g if tan (P) and tan (%) are the roots of ax? + bx+c=0,a# 0
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